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11.

Which of the following is a merit of the Decentralisation ?
(A)  Relieves top management from the burden of all decisions
(B)  Facilitating setting up of profit centres
(C) Promotes development of lower managers
(D) Alloftheabove

The appointment of subsequent auditors of a company are appointed by :
(A) Board of directors (B) Sharcholders
(C) Central government (D) Company promoters

Verification of arithmetical accuracy of accounting entries and to ensure that ledger
accounts are properly balanced is the main objective of :

(A) Routine checking (B) Testchecking

(C) Vouching (D) Internal audit

When the audit is conducted at certain intervals throughout the year, it is called :
(A) continuous audit (B) interim audit
(C) internal audit (D) external audit

In case of Buy Back of shares, an auditor has to ensure that the shares have been
bought by the company out of :

(A) its free reserves only

(B)  the balance in share premium accountonly

(C) the proceeds of any shares or other specified securities only

(D) all ofthe above only

Mr. Handsome is entitled to a transport allowance of Rs. 1,000 per month for
commuting from his residence to his office and back. He spends Rs. 600 per month
on the same. The exemption shall be to the extent of :

(A) Rs. 1,000 p.m. (B) Rs.800p.m.

(C) Rs.600p.m. (D) None ofthe above
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An assessce has borrowed money for purchase of a house and interest is payable
outside India. Such interest shall :

(A) beallowed as deduction

(B) not beallowed as deduction

(C) beallowed as deduction if the tax is deducted at source

(D) beallowed as deduction if the tax is not deducted as source

Ifdonation is made to a National Laboratory or a University with the specific direction
that scientific research should be for an approved programme, theamount of deduction
shallbe: .~

(A)  125% ofthe donation so made

(B)  100% of the donation so made

(C) 175% of'the donation so made

(D) 150% of'the donation so made

Amount unutilized in the capital gain scheme for which exemption under
Section 54 B was claimed shall be treated as :
(A)  long-term capital gain
(B) short-term capital gain
(C)  short-term or long term capital gain depending upon the original transfer
(D) noloss, no gain

“Owners of business are different/distinct than the business enterprise”, is the
assumption under :
(A)  Going Concern Concept
(C) Dual-aspect Concept

(B) Business Entity Concept
(D) Accrual Concept

Indicate for the following situation, which accounting concept/principle has been
violated : ““A calculator purchased early March for Rs. 1,150 can be purchased at
year-end for Rs. 925. The company has used the later value on the balance sheet
date™ :
(A) Matching concept
(C) Costconcept

(B) Goingconcemn concept
(D) Accrual concept
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18.

20.

21.

22.

23.

Receipts and Payments account is asummary ofall :
(A) Capital receipts and payments
(B) Revenue receipts and payments
(C) Capital receipts and revenue payments
(D) Capital and revenue receipts and payments

Under Sec. 211 of the Companies Act, 1956, Accounting Standards are mandatory
forall :

(A). Companies (B) Partnership firms

(C) " Sole proprietors (D) Alloftheabove

Under the Hire Purchase Agreement, govemed by Hire Purchase Law, the property
in the goods is to pass to such person on the payment ofthe:

(A) Firstinstallment (B) 2installment

(C) 3"installment (D) Lastinstallment

Acompany’s Head Office (H.0) has supplied goods costing Rs. 400 to wholesalers
at Rs. 500 and to retail branches at Rs. 525. The total profit earned by the H.O is :
(A) Rs.25 (B) Rs.125
(C) Rs.100 (D) None ofthe above

Goods-in-transit under Branch Accounting are the goods :

(A) Supplied by the Head Office (after the close of accounting period) which
remain undelivered

(B) Supplied by the Head Office or returned by the branch (before the close
of the accounting period) which remain undelivered.

(C) Retumned by the branch (after the close of the accounting period) which
remain undelivered

(D) None ofthe above

In case of Insolvency, the official assignee is appointed by the :
(A) HighCourt (B) Sharcholders ofacompany
(C) Creditors of acompany (D) Board of acompany
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24,

25.

26.

27.

28.

29,

The two methods of collecting data are :
(A) Primary and Secondary data (B) Censusand Sampling
(C)  Questionnairesand Schedules (D) None of the above

If Mode is ill-defined, the empirical relationship between the Mean, Median and
Mode for a moderately skewed distribution s :

(A) Mo=3Md-2M (B) Mo=2M-3Md
(C) Mo=3Md-3M D) Mo=2M-2Md
Kurtosis in the.data helps usin :

(A)  identifying the right tails of the frequency curve

(B)  identifying the left tails of the frequency curve

(C)  understanding the shape and nature of the hump (middle part) of a frequency
distribution

(D) all of the above

Time reversal test and Factor reversal tests are associated with :

(A) Karl Pearson (B) Marshal-Edgeworth
(C) Cowdon Croxton (D) Irwing Fisher
Inspect the two series X and Y as :
X : 10 12 14 16 18
Y : 20 18 16 14 12
It seems that the two variables X and Y are :
(A) Positively correlated (B) Negatively cormrelated
(C) Not correlated (D) Allofthe above

In the linear regression equation, y = a+ bx, bsignifies :
(A)  Slope ofthe line of regression of y on x
(B)  Slope of the line of regression of x on y
(C) Intercept of the line of regression of yonx
(D)  Intercept of the line of regression of x on y
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30.

3L

32,

33

34,

35.

Iftwo regression coefficients are 0.8 and 1.2, what would be the value of the coefficient

of correlation ?
(A) 0.89 B) 0.90
(€ 085 ©) 0.97

In a Study of Association of attributes, you are given : (A) =200, (B) = 400,
(AB)=100,N = 1000; The attributes A and B are :

@A)
©

Independent B) Positivclyassociated
Negatively associated (D) None ofthe above

The first economist to have coined the terms, “Micro Economics and Macro

Economics”, is :

GV
©

Milton Friedman (B) Ragnar Frisch
J.M. Keynes (D) AmartyaSen

“The more we have ofa particular commodity the less we want to have more of it”,
is the reflection of -

A
®)
©
()]

The Law of Equi-manginal uilty
The Law of constant returns

The Law of Diminishing marginal utlity
The Law of Diminishing retums

The!ndiﬂ'mmecunwalways:

A
®)
©
D)

slopes positively from right to left
slopes negatively from left to right
remains constant

none of the above

The Net National Product is equal to :

Gy

®)
©)
()]

GNP minus allowance for depreciation and maintenance of capital
equipment

GNP plus income eamed from abroad

GDP minus income earned outside the country

All of the above
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36.

37.

38.

39.

40.

41.

42,

“Bad money pushes out of circulation the good money,” is the reflection of :
(A) Parkinson’s law (B) Gresham’slaw
(C) Pareto’s law (D) Say’slaw

“Money is a standard of deferred payments,” is :
(A)  aprimary function of money
(B)  asecondary function of money
(C)  acontingent function of money
(D) allofthe above

Nowadays, a Conuﬁercia.l bank provides advance to finance :
(A) Current assets only (B) Fixed assets only
(C) Bothcurrent and fixed assets (D) None of the above

The acronym “NABARD” stands for :
(A) National Agricultural Bank and Rural Development
(B) National Aeronautical Bombay Airways Research and Development
(C) NewAgricultural Bengali Rice Development
(D) National Bank for Agriculture and Rural Development

Pre-audited summarised quarterly accounts are to be published by all listed companies
under ;

(A) Company law (B) RBldirection
(C) SEBIldirection (D) Allofthe above
In case of internal reconstruction :

(A)  theexisting company s liquidated
(B)  theexisting company is not liquidated
(C) thereis no reduction of capital

(D)  afresh company is formed

The book value of a share means :
(A) Intrinsic value of a share
(B) Total assets divided by the number of shares, having no consideration for
liabilities
(C)  Total assets minus long term liabilities
(D) None ofthe above
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43.  Liquidation ofa company means that

(A) the company is reformed with intemal reconstruction

(B) the company comes to an end
(€) theliabilities exceed jis assets
(D) none of the above

For a banking com pany incorporated in

place/State (except Mumbai and Kolkata) sho

and feserves amounting to :
(A) Rs.50,00,000
(C) Rs.5,00,000

45, Under Banking Regulation Act, 1949
(A)  Authorised capital
(B) Reservesand Surplus
() Deposits within and outside India
(D) Bnrruwing.swiﬂﬁnandoutsidchdia

India having business in more than one

uld have a minimum paid up capital

(B) Rs. 1,00,00,000
@) Rs.10,00,000

(FcumA),lh:Sclﬁuleitgivmadmcﬁpﬁon of:

46.  As per Section 17 of the Banking Regulation Act, how much every bank has to
transfer its current year’s profit to statutory reserve ?
(A) 20% B) 22%
©€) 30% (D) None of the above
47.

As per RBI classification, a sub-standard asset/ad
asan NPA fora period less than orequal to :
(A)  12months (B)
(C)  24months (D)

48.
(A)  Board of directors
© AuditursofCompany

49.  The difference between the authorised and the

(A)  subscribed capital
(©)  unissued capital

CMN-45522-8

vanoeisonewi:jchhasmaincd

6months
18 months

The Articles of Association of acompany are subservient to:

B) Prospoctusofﬂwmmpany
(D) Memorandum of association

issued capital is known as :
(B) nominal capital
(D) registered capital
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50.

5.

52

53.

54.

55.

The minimum number of persons who can form a public limited company is :
A) 2 ®) 5
< 7 O 10

Which of the following does not involve winding up of a company by court ?
(A) Failure to commence business within the stipulated time
(B) Reduction of members below statutory limit
(C) Inability to pay debts
(D) Whenthe members pass a resolution that the company should be wound up

One of the conditions of a contract is that the parties entering into a contract must be
major, and as per Indian Majority Act, a major is one who has attained the age of :
(A) 20years (B) 16 ycars
(C) 18 years (D) 25 years

Pal promised to marry Lovely only, and none else; and to pay a definite sum ifhe
married someone else. Pal married Beauty. It was held that Lovely could not recover

the sum as the agreement was :
(A) Voidable (B) Valid
(C) Void (D) None ofthe above

Under Sale of Goods Act, in case of sale, which condition is valid from the
following ?
(A) Ifthe goods are destroyed, the loss falls on the seller
(B)  Ifthe buyer fails to pay for the goods, the seller may sue for the price
(C) Ifthe buyer fails to accept and pays for the goods, the seller can only sue
for damages and not for price
(D) Property or ownership to be transfered at a future time

In which of the following, the MRTP Act, 1969 is not applicable to :
(A)  Public Limited Companics in India
(B) Foreign Companies in India
(C) Private Companies in India
(D) Companies owned and controlled by the government
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56.

‘While designing a costing system, the main factor to be considered is :

(A) nature of materials used (B) businesssituation
(C) manufacturing process (D) noneofthe above
57. Variable cost increases due to :
(A) increase in semi-variable cost (B) increase in fixed cost
(C) increase in profits (D) increase in production volume
58. Underprmmling,equ.ﬁvalent unit means :
(A) Work in'progress
(B) Physical units
(C) Partly completed units
(D) Total work of a department/process is stated in terms of fully completed
units
59.  Ahotelier has approached you to advise him about method of costing. Which one of
the following, you will suggest to him for his hotel ?
(A) Batchcosting (B) Single or output costing
(C) Service costing (D) None ofthe above
60. Scientific Management is associated with :
(A) Peter Drucker (B) Henry Fayol
(C) KoontzO’donnell (D) FE.W.Taylor
CMN-45522-B ARk
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